ANTIDERIVATIVES AND THE F UNDAMENTAL THEOREMS OF CALCULUS

20. In order to evaluate / tsin(z?) dt using substitution, you would probably use v =

;;. 22

-B. cos(t?)2t dt
C. 2tdt

D. sin(#?)

E: ¥

z : I
22. In order to evaluate / vrl_—_i dz using substitution, you would set u =
=m
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V1 —z?
E. Substitution won't work.
23. If g(z) = zv/9 — 22, the antiderivative G(z) = 5 ¥ ( A= %" j/LcMI‘. ws 9-«
3,2 _ 1.3 L Ak L
A- 23: 3-'5 +‘C = g}( U\/L 4 ~'-_r_2_‘_ ‘:C%‘ = - T
$22-23+C = §73 W't dan o
C. -}(@-ah)+C : =Rt jre
—z2)% T
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24.  Given that ¢'(Z) = (sint)(5 + 5 cos t)3, find g(t) if g(0) = 0. GO = S( Sty (St Scast) ot
A g(t) = —1(5+ 5cost) ) (st ( 3, 4
- T bssrt ()" i3

B. g(t) = —%(5+5cost)? + 2,500
C. g(t) = §(5+5cost)? - 2,500
f_"f)'.f \ g(t) = =& (5 + 5cost)* + 500 TEgaT TE

E. g(t) = (5+5cost)® - 500 'y ‘_
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25. /33(I2+?)3dx= g’ax- w o‘,:: wE X+
— . B¢ 3 g _
Al e2+rtec  TIO W A T
= Bk Y ;
31,2 4 ) F2(gu)tc o .
B. 3=*+7)'+C z ; o f
C. ie+7'+C = ) 6
D. 3(z2+7'+C
E. None of these.
z? AP S ) wity e
26. /de= g V\L{’EL -\ S
2 = Ao 2
A. —(2$3—12)"3+C - S‘k L "_L.\Z-L CLL = lon
L | e clo
— - - i A "',Tt._ é._/\.
B.! —-—-——-1-—-—-—-—+C L 5'» x> ¢
St 18(228 — 12)3 L
:E;(-;U\ )".'l_
-1
C. ——==+C -3
3(223 — 12)3 _,l,lg_(?_;,_\zj +c
D. -i(22%-12)*+C
E. None of these.
.
30. fseczztmzdm= 5 SEtRe B w = e
: e _
A. isec®z+C =§ wde o ® ¥ X
- A
b, tantz s - furec N
Sec
| ltan’z+C T et v C
'D. 2sec?z+C
E. None of these.
SR
34. fsin(ti:z)secﬁ(drc}dm= _( Som (W) feos (‘!wﬂ dux W cos x
e L
= b5 (j_x — - -5{.».-({)&-)
R T A
TBA A S -l e
— EJ 2 sec®(dz) + C = -4 SLL" o Y5 Y
C. Fsec’(4z)+C ) "L('I_Ll-_s) i :
L L bl g
D: & sec®(dz)tan(dz) + C © s
28 S U, PO
i ﬁl_c" cos A+ € = 35 dee (10
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